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Q1.

Q2.

Q3.

How many of the following activities are
included in the calculation of GDP?:

1. Domestic work

2. Volunteer Activities

3. Goods Exchange

Code :

(a) Only one
(b) Only two
(c) All three
(d) None

Consider the following statements:

1. GDP measures the total economic output of a
country but does not tell how it is distributed
among the citizens.

2. Many valuable activities in the economy are
not included in the GDP calculation.

3. GDP does not consider external factors that
may have a positive or negative impact on the
economy.

How many of the statements given above are
correct ?

(a) Only one

(b) Only two

(c) All three

(d) None

With reference to Marginal Standing Facility

(MSF), consider the following statements :

1. Under this, all the customers of Reserve Bank
can borrow from it.

2. The rate of MSF is generally lower than the
repo rate.

Which of the statements given above is/are not
correct?

(@) only 1

(b) only 2

(c) Both 1and 2

(d) neither 1nor 2
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Q5.

Q6.

the following statements:

1. Deficit financing may lead to increase in
inflation.

2. This could lead to
inequality.

increase in income

Which of the statements given above is/are
correct ?

(@) only 1

(b) only 2

(c) Both1and?2

(d) Neither 1nor 2

With reference to transfer payments, consider

the following statements:

1. Transfer payments refer to one-way payments
that have no exchange of goods or services in
return.

2. Transfer payments are included in national
income ( NI) .

Which of
correct ?

(@) Only 1

(b) Only 2

(c) Both 1and 2
(d) Neither 1nor 2

the above is/are not

With reference to Capital Output Ratio,consider
the following statements:

1. Capital output ratio (COR) refers to
the amount of capital (investment)
required to produce one unit of

output.

2. The higher the COR , the less capital

is required for production and hence
the less efficiency the economy
exhibits .

Which of the statements given above is/are
correct ?

(a) only 1

(b) only 2

(¢ Both 1and 2

(d) neither 1nor 2
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Q8.

Q9.

With reference to Fiscal Policy and Monetary

Policy, consider the following statements:

1. Fiscal policy is used by the government to
monitor the country’s economy and adjust tax
rates.

2. Monetary policy is used by the central bank to
influence the money supply and interest rates.

3. The major instruments of fiscal policy are
bank rate, cash reserveratio (CRR ), statutory
liquidity ratio (SLR) etc.

4. The major instruments of monetary policy
are public expenditure, taxation, public
borrowing etc.

How many of the statements given above are
correct ?

(3) Only one

(b) Only two

(c) only three

(d) All four

Itisaprocessinwhichagovernmentimplements
policies to reduce its fiscal deficit and stabilize
its debt levels. This is usually done by reducing
government spending and increasing revenue.
The above lines are related;

(a) Fiscal deficit

(b) Fiscal consolidation

(c) Fiscal Neutrality

(d) none of these

With reference to counter-cyclical fiscal policy,

consider the following statements:

1. This policy works in the opposite direction to
the cycles of the economy.

2. During a recession, the government attempts
to grow the economy by reducing expenditures
and increasing taxes.

3. During a boom, the government stimulates the
economy by increasing spending and reducing taxes.

How many of the statements given above are
correct ?

(a) Only one

(b) Only two

(c) All three

(d) None
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Q 10. What facilities do payment banks provide ?

Q 12.

. Fixed Deposits
. Debit Card

. Credit Card

. Loan

N ow N

Choose the correct option from the codes given
below:

() 1and 2 only

(b) 2 and 3 only

(0 2and4 only

(d) only 2

With reference to fiscal drag, consider the

following statements:

1. Fiscal drag is a situation when the fiscal
policy of the government slows down the
growth in the economy.

2. This usually happens when the government
reduces tax rates or increases expenditures.

Which of the statements given above is/are not
correct?

(@) only 1

(b) only 2

(c) Both1and?2

(d) neither 1nor 2

With reference to helicopter money, consider

the following statements:

1. Helicopter money refers to increasing the
supply of money in an economy through
measures such as more spending, tax cuts,
etc.

2. It is basically a contractionary fiscal or
monetary policy in which large amounts of
money is printed and distributed among the
public in order to stimulate the economy.

Which of the statements given above is/are not
correct ?

(a) only 1

(b) only 2

(c) Both 1and 2

(d) neither 1 nor 2
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Q 13. Consider the following statements:

Q 14.

Statement 1: Under the Crowding Out Effect, as
government spending increases, private sector
spending decreases.

Statement 2: In the crowding out -effect,

a large portion of the resources
used by the government comes from
the public through taxes or borrowing,

leaving fewer resources for the private sector to
invest.

In the context of the above statements, which

of the following options is correct ?

(3) Both statements 1 and 2 are correct and
statement 2 explains statement 1.

(b) Both Statements 1 and 2 are correct but
Statement 2 does not explain Statement 1.

() Statement 1 is correct, but Statement 2 is
wrong.

(d) Statement 2 is correct, but Statement 1 is
wrong.

With reference to the difference between a
bank and a non-banking financing company,
consider the following statements:

1. Banks can accept demand deposits whereas
NBFCs cannot accept demand deposits.

2. Banks are a part of the Payment and
Settlement System (PSS), and hence they
can issue self drawn cheques whereas NBFCs
are not a part of the Payment and Settlement
System (PSS), and hence they cannot issue
self drawn cheques.

3. Banks are regulated under the
Banking Regulation Act, 1949 while
NBFCs are regulated under the Companies
Act, 1956.

How many of the statements given above are
correct ?

(3) Only one

(b) Only two

(c) only three

(d) None
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Q 16.

Q17.

to Domestic Systemically Important Banks:

1. Domestic Systemically Important Banks
(D-SIBs ) within the Indian banking system
refer to those banks that operate on the
concept of “Too Big to Fail (TBTF)".

2. So far four banks have been identified as
Domestic Systemically Important Banks
(D-SIBs ) in India.

Which of the statements given above is/are
correct ?

(a) only 1

(b) only 2

(c) Both 1and 2

(d) neither 1 nor 2

Stressed assets are an important indicator
of the health of the banking system. These
include-

1. Non performing asset

2. Restructured Loan

3. Right Assets

How many of the above statements are
correct ?

(a) Only one

(b) Only two

(c) All three

(d) None

Which of the following statements is/are not

correct regarding e-way bill system?

1. Transporters of goods can generate e-way
bill.

2. E-way bill are required for transportation
of all goods except handicraft
goods.

3. Its validity depends on the distance to which
the goods are to be transported.

Select the correct answer using the code given
below:

(@) Only 2

(b) Only 3

(0 Only 1and 3

(d 1,2and 3
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priority sector lending?
1. Export Credit

2. Housing

3. Social infrastructure
4. Renewable Energy

How many of the above is/are correct ?
(3) Only one

(b) Only two

() Only three

(d) All four

Minimum Alternate Tax (MAT)  often discussed

in the news is:

(@) A form of direct tax.

(b) Tax imposed on high net worth individuals
(HNIs ).

() Taxes levied on goods imported and exported
in foreign trade.

(d) Tax imposed on crypto currencies.

. Consider the following:

1. Microfinance Institutions (MFIs) registered
as NBFCs

2. Non-Banking Financial Companies (NBFCs )

Scheduled Commercial Banks including Small

Finance Banks (SFBs)

4. Co-operative Banks

w

In India, microcredit is distributed through
how many of the above channels ?

(3) Only one

(b) Only two

() Only three

(d) All four

. In taxation, horizontal equity refers to:

(a) Everyone pays the same amount of
tax.

(b) People in a better position pay more
tax.

() People in a similar position pay the same
amount of tax.

(d) Taxation is independent of the level of
income.
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Q 23.

Q 24.

Q 25.

gains?

1. Receipts must create liabilities for the
government.

2. Receipts must decrease government assets.

Code:

(@) Only 1

(b) Only 2

(c) Both1and?2

(d) Neither 1nor 2

With reference to ‘'Repo Rate and Reverse

Repo Rate’, consider the following statements:

1. In the reverse repo rate, banks and financial
institutions buy government securities from
the RBI.

2. Therepo rate allows banks and other financial
institutions to borrow money from the RBI
for a longer period.

Which of the statements given above is/are
correct?

(@) Only 1

(b) Only 2

(c) Both1and?2

(d) Neither 1 nor 2

Which of the following steps can the
government take to reduce the budget deficit?
1. Reducing revenue expenditure

2. Launching new welfare schemes

3. Rationalizing subsidies

4. Reducing import duties

Select the correct answer using the code given
below:

(3 1and 2 only

(b) 1and 3 only

(0 1,2and 3 only

(d 1,2,3and 4

The Laffer curve is related to:

(a) Tax buoyancy and tax elasticity
(b) Tax rate and tax buoyancy

() Tax rate and tax elasticity

(d) Tax revenue and tax rate
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Q 26.

Q 27.

Q 28.

Consider the following statements:

1. Gross domestic product includes the production
of goods and services by all producers within a
country, while gross national product includes
all goods and services that are produced by
citizens of a country.

2. Gross national product is usually low if an
economy is highly globalized and competitive
and has many multinational companies
operating in other countries.

Which of the statements given above is/are not

correct?

(3 Only 1

(b) Only 2

(c) Both1and 2

(d) Neither 1nor 2

Consider the following statements with

reference to Consumer Price Index ( CPI) :

1. The Consumer Price Index measures changes
over time in the level of retail prices of goods
and services.

2. Under CPI, inflation rate is measured in eight
sectors.

3. CPI is published on a monthly basis by the
National Statistical Office (NSO) under
the Ministry of Statistics and Programme
Implementation.

How many of the statements given above are correct ?

(a) Only one

(b) Only two

(c) All three

(d) None

With reference to consider the

following statements:

1. Cost-push inflation Occurs when the demand
for goods and services exceeds their supply.

2. Demand-pull inflation is driven by increases
in the cost of production of goods and services.

Which of the statements given above is/are correct ?

(a) only 1

(b) only 2

(¢ Both1and?2

(d) neither 1nor 2

inflation,
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Q 29. Consider the following statements:

Q 30.

Q 31.

1. Unlike core inflation, headline inflation takes
into account changes in the price of food and
energy.

2. The Reserve Bank of India (RBI) uses the
CPI-Combined as the key inflation measure
for monetary policy purposes.

3. The Consumer Price Index number for
Industrial Workers measures the change over
time in the prices of a fixed basket of goods
and services consumed by industrial workers.

How many of the statements given above are
correct ?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements regarding

Treasury Bills or T-Bills in India:

1. Treasury bills are short-term debt instruments
issued by the RBI.

2. Treasury bills are zero coupon securities that
pay no interest.

Which of the statements given above is/are correct ?
(3) Only 1

(b) Only 2

(c) Both 1and 2

(d) Neither 1nor 2

With reference to Prompt Corrective Action
(PCA) of Reserve Bank of India, consider the
following statements:

1. Its aims to monitor the operations of weak
banks more closely to encourage them to
preserve capital and avoid risks.

2. It imposes certain restrictions on dividend
distribution and expansion of branches by
financially weak banks.

Which of the statements given above is/are correct ?
(@) Only 1

(b) Only 2

(¢ Both1and?2

(d) Neither 1nor 2

1



Q 32.

Q 33.

Q 34.
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() hael 133

(d) 1,233

Q 32.

Q 33.

Q 34.

Consider the following statements:

1. The Monetary Policy Committee (MPC)
consists of six members including the RBI
Governor, where each member is nominated
by the RBI.

2. The Monetary Policy Committee meets every
two months to evaluate the current situation
and outlook for inflation and economic
growth.

3. When the Monetary Policy Committee wants
to control inflation, it follows the “dear
money” policy.

How many of the statements given above are
correct ?

(3) Only one

(b) Only two

() All three

(d) None

Consider the following statements with

reference to the difference between revenue

and capital receipts:

1. Revenue receipts are non-repayable unlike
some capital receipts.

2. Capital receipts, unlike revenue receipts, are
always debt creating.

Which of the statements given above is/are correct ?
(@) Only 1

(b) Only 2

(c) Both 1and 2

(d) Neither 1 nor 2

With reference to ‘Fiat Money’, consider the

following statements:

1. It is a currency that has been declared legal
tender by the government.

2. Its value increases during hyperinflation.

3. It is backed by a physical commodity.

Which of the statements given above is/are
correct ?

(@) Only 1

(b) Only 2 and 3

(0 Only 1and 3

(d 1,2and 3
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Q 37.
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Q 36.

Q 37.

following statements:

1. Indirect tax is a tax levied by the government
on goods and services, and not on the profit or
revenue of an individual.

2. Indirect taxes are called regressive tax
mechanism because they are charged at a
higher rate than direct taxes.

3. Cascading effect of tax is a situation in which
the final consumer of any goods or services
has to bear the burden of tax to be paid on
top of the already calculated tax and faces
increased price as a result.

How many of the statements given above are
correct ?

(3) Only one

(b) Only two

() All three

(d None

Which of the following situations can lead to

inflation?

(@) Slow growth of aggregate demand

(b) High level of unemployment

() Decrease in money supply

(d) Faster increase in aggregate demand than
supply

With reference to the importance of fiscal policy

in India, consider the following statements:

1. Fiscal policy plays an important role in
increasing the rate of capital formation in
both public and private sectors.

2. Fiscal policy helps in providing incentives to
increase the saving rate.

3. The objective of fiscal policy is to reduce the
imbalance in the dispersion of income and
wealth.

How many of the statements given above are
correct ?

(3) Only one

(b) Only two

() All three

(d) None
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Q 39.

Q 40.
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Q 40.

control inflation?

1. Variable Reserve Requirement
. Moral Instigation

. Liquidity Adjustment Facility
. Bank Rate

A W N

Select the correct answer using the code given
below:

(@ 1,2and3

(b) 1,3 and 4

() 1Tand?2

(d 1,2,3and 4

With reference to Cash Reserve Ratio (CRR),

consider the following statements:

1. Cash Reserve Ratio (CRR) is the portion of
a bank’s total deposits that it is required to
keep as liquid cash with the Reserve Bank of
India (RBI).

2. CRR applies to scheduled commercial banks,
regional rural banks and NBFCs.

Which of the statements given above is/are

correct?

(3 Only 1

(b) Only 2

(c) Both1and 2

(d) Neither 1nor 2

Consider the following statements with

reference to Windfall Tax :

1. Windfall tax is imposed on companies or
industries that make immediate profits under
certain circumstances. India’s oil companies
are a good example of this.

2. The windfall tax is levied by the central
government on profits made by crude oil
producers on any price received above the
threshold of $75 per barrel .

Which of the statements given above is/are not
correct ?

(a) only 1

(b) only 2

(¢ Both1and?2

(d) neither 1nor 2
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Q42.

Q43.

cyclical recession in Indian industry?

1. Investment Heavy investment in equipment
and inventory.

2. Production of final goods is low, while
supermarkets are few and economic activity
is low.

3. Changing demographics
consumer behaviour.

and changing

How many of the above statements is/are correct ?
(a) Only one

(b) Only two

(c) All three

(d) None

Which of the following parameters are included in
the calculation of Human Development Index (HDI)?
1. Per capita income

2. Women empowerment

3. Level of education

4. Life Expectancy

Select the correct answer using the code given

below:

(3 Only 1and 3

(b) 1,2 and 3 only

(0 1,2and4 only

(d) 1, 3 and 4 only

Consider the following statements with

reference to currency:

1. It facilitates transactions by acting as a
medium of exchange.

2. It preserves wealth over time by acting as a
store of value.

3. It enables comparison of prices by acting as a
unit of account.

How many of the above statements are
correct ?

(@) Only one

(b) Only two

() All three

(d) None
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Q 44. 9Rd ¥ a1 3Myfd & 3Rl & ¥ed 4, fFmfelad Wi W Q 44. With reference to measures of money supply in

Q 45.

Q 46.
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Q 45.

Q 46.

India, consider the following pairs:

1. M3: It includes financial assets such as time
deposits and some commercial papers.

2. M2:1t includes M1 and savings deposits.

3. M1: It includes currency in circulation and
demand deposits.

4. MO: Refers to the physical currency held by
the public and the deposits of commercial
banks with the RBI.

How many of the above pairs are correctly
matched ?

(3) only one pair

(b) only two pairs

() only three pairs

(d) all four pairs

Consider the following in the context of green

accounting:

1. It aims to incorporate environmental costs and
benefits into traditional accounting systems.

2. It can help businesses make more sustainable
decisions.

3. It is only relevant for large corporations.

How many of the above statements are correct ?
(3) Only one

(b) Only two

() All three

(d) None

Consider the following statements with

reference to growth and development:

1. Growth refers to the increase in real GDP of
an economy.

2. Development is a broad concept that
includes not only economic growth but
also improvement in social welfare such as
education, health and standard of living.

Which of the statements given above is/are
correct ?

(@) Only 1

(b) Only 2

(¢ Both1and?2

(d) Neither 1nor 2
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Q 49.
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Purchasing Power Parity (PPP):

1. It is a theory that compares the currencies of
different countries through a basket of goods
and services.

2. It helps to determine whether the value of a
currency is high or low.

3. It is often used to adjust economic data for
international comparisons.

4. Itistheonly method used to measure exchange
rates.

How many of the above statements are correct ?
(3) Only one

(b) Only two

() Only three

(d) All four

Q 48. With reference to intermediate goods, consider

Q 49.

the following statements:

1. These goods are products used by producers
as inputs for the production of other goods.

2. These goods enter directly into the
consumption flow.

which of the above statement(s) is /are not
correct ?

(a) only 1

(b) only 2

(c) Both 1and 2

(d) neither 1 nor 2

With reference to the method of nationalincome

calculation, consider the following facts:

1. In the expenditure method, total income is
measured by calculating the total value of final
goods and services produced by all the firms.

2. In the product method, total income is
calculated by adding all the factor payments
(wages, interest, profit, rent ).

3. In the income method, total income is
calculated by measuring the expenditure
received by all the firms for the final goods
and services produced.

How many of the above is/are correct ?

(a) Only one (b) Only two

(c) all three (d) none
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Q 50. A (Nominal) Siteldt 3R aRafd® (Real) SiEldt s Q 50. Nominal GDP and With reference to Real GDP
consider the following statements:
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1.

The prices used in calculating GDP at current
prices The monetary value of all goods and
services is called nominal GDP.

The monetary value of all goods and services
used in calculating GDP at base year prices
The value of is called real GDP.

Nominal GDP is considered an accurate
indicator of the economic growth of a country.
Real GDP can never be more than nominal
GDP.

How many of the above statements are correct ?
(a) Only one

(b) Only two

() Only three

(d) All four




